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CORRECTION

Student's book page 47 (6o again)

@ Exercise 2: Listen and say true or false. Correct the false sentences.

ham sandwich £2.20
eqq sandwich £2.50

ML plzza £150
o bottle of water %050
cheese sandwich €260
croissant %140
chicken sandwich #£3,00

An egg sandwich is 2,70€ False

An egg sandwich is 2,50€

A cheese sandwich and a chicken sandwich are 5,60€. True
Two croissants are 2,80€. True

A ham sandwich and a bottle of water is 3,70€. False

A hand sandwich and a bottle of water is 2,70€

Two cakes are 2,45€. False

Two cakes are 2,50€.

Two mini pizzas and a bottle of water is 3,80€. False
Two mini pizzas and a bottle of water is 3,50€.

Exercise 3: Copy and answer.

How much are two ham sandwiches? Two ham sandwiches are 4 ,40€.

. How much is a bottle of water and a cheese sandwich? A bottle of

water and a cheese sandwich are 3,10€.

. How much is an egg sandwich and a cake? An egg sandwich and a cake

are 3,75€.

How much are two cheese sandwiches? Two cheese sandwiches are
5,2€




